FE | 2017
BEBS | &F FRTEHh FEEI—F| & HBEEHELHE FEHTHE | HEMBEI—F | HERE |HEREH BEAW Y—RR 5 | BERS | MAER | EHE | RIGFEE

1 1 [ELHERS =T H2-1 NEZ: ] W& - 007] W& - IIE RHSL - - 4] 0250 2011
2 1 BT RS =T H2-1 AEZE] L - 007] & = BEF LS RTL HY—/\—PC - - 5] 0.200[ 2014
2 2 |ELHIXS = TH2-1 AE3E] & - 007 & - BEEF LS RT L H—/\—PC BINBAH - - 5[ 0200 2014
3 1 |[ELfERE =T H2-1 AEIE] P& = 007] H& = HMBRHRATL = = 5] 0.200[ 2016
3 2 |[EILHERS=TH2-1 20 275 | BBEEEE: Y ILIIT = 023[Y k7 = BBEHIRTL VAT LEE = = 5 0.200[ 2016
3 3 |EHdtRS =T H2-1 20 XBR | BUEAEEE:YILIIT = 023|YIrH T = MBRHRTL AEEEER - NRHVRATLIEBE = = 5/ 0.200] 2016
4 1 |ELHdERE =T H2-1 20 2752 | BBEEEE: Y ILIIT = 023[Y k7 = ABHBESRT L - - 5 0.200[ 2016
4 2 [ALHdEERS =T H2-1 20 EBR | BMEEEE:YILIIT = 023[VIrHT = ABHRESRT L BAFEELFDIER IR = = 5[ 0200[ 2017




I=s
WEEAE | tARKERE | #ARKE | EIXS |BBFEH| FHIE | S5H2—F | SHE20 | BERS | FX58 | FHRRRBEEE | EERY | THATREE | Bl | T2RAESE | K2 | B | B3| Z8itE | AFHERE | BMAIEERS | MEXS
20110901 2011 20110901 F 6 100 1| —fes = = = = = = - 1.00[=% - - - Bi% TERELE
20140401 2014 20140401 7 3 100 =S = - = - = - - 1.00[z% = - - % TR BAEE
20140401 2014 20140401 3 3 100 1| —fes = = = = = = - 1.00[=% - - - Bi% TERELE
20160401 2016 20160401 7 1 100 =S = - = - = - - 1.00[z% = - - i TR BAEE
20160901 2016 20160901 | & 1 100 1| —fg = = = = = = = 1.00[=% = = = W% 1TIEREAPE
20170331 2016 20170331 | X 1 100 =S = - = - = - - 1.00[z% = - - i TR BAEE
20160401 2016 20160401 | 3 1 100 1| —fgx = = = = = = = 1.00[=% = = = W% 1TEREAPE
20170515 2017 20170515 | F4E:A(2%0) 0 100 =1 = = = = = - - 1.00[=% = = = i 1TERBAEE




NEMEES | RSEHE | BREME | BEENERE | REENRHE | FHEBRRE | REHNRAM | ZOMOBHRE | MEEE | LHRHA | AMIRSHE | AMEMENE | LHMEFHEBERE | LHRGEH | £ OMIBHE | HREE | EHFE | ERLRE | #E
= 1,278,415 319,603 1,278,414 1 0 0 1 2015] 1278415
= 10,072,944 2,014,588 4,029,176 6,043,768 0 2,014,588 4,029,180 2,019 10,072,944
= 1,620,000 324,000 648,000 972,000 0 324,000 648,000 2,019] 1,620,000
= 2,126,628 425,325 0 2,126,628 0 425,325 1,701,303 2021] 2,126,628
= 878,472 175,694 0 878.472 0 175.694 702,778 2,021 878.472
= 526,176 105,235 0 526,176 0 105,235 420,941 2,021 526,176
= 1,544,400 308,880 0 1,544,400 0 308,880 1,235,520 2,021 1,544,400
= 86,400 17.280 0 0] 20170515 86,400 0 86,400 2,022 86,400




